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A. Edit Component wizard
B. Create Component wizard
C. Discovered Components pane
D. Discovery Management Console

Answer: C 

QUESTION: 63
	
If split logging is not enabled, what is the default behavior of logging?
	

A. Sensors will not create any log files.
B. All sensors will write entries into a single file.
C. All sensors will send their output to the discovery console.
D. Sensors will write entries in the syslog file in UNIX/Linux and the application event log
in Windows.

Answer: B 

QUESTION: 64
	
What is used to extend discoveries to restricted network zones?
	

A. cygwin
B. anchors
C. gateways
D. bitvise ssh server

Answer: B 

QUESTION: 65 
A customer is getting ready to set up a Level 3 profile in order to scan their production IBM 
WebSphere servers which are running V6.1, V7, V8, and V8.5. What should be the first step 
in setting up the profile? 

A. Setup access list entry
B. Check the sensor reference guide in the IBM Info Center to ensure the scanned platforms
are supported target versions
C. Check if WebSphere security is turned on and if so, obtain a valid user ID and password
to the WebSphere Admin Console
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D. Retrieve needed SSL WebSphere certificates and place them on the IBM Tivoli
Application Dependency Discovery Manager Console

Answer: B 

QUESTION: 66
	
Which item represents a valid IP type when configuring a discovery scope?
	

A. Static
B. DHCP
C. Subnet
D. Shared

Answer: C 

QUESTION: 67 
A built-in Business Intelligence Reporting Tool report can be exported in which three 
formats? (Choose three.) 

A. JPG
B. XML
C. PDF
D. CSV
E. EXCEL
F. Postscript

Answer: C, E, F 

QUESTION: 68 
In IBM Tivoli Application Dependency Discovery Manager V7.2.1.3, which two default 
ports are used by the Ping sensor to connect to the target servers? (Choose two.) 

A. 22
B. 23
C. 80
D. 135
E. 445
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Answer: A, D 

QUESTION: 69
	
What automates the process of creating and maintaining a business application?
	

A. DefaultLevel3 profile
B. Application descriptors
C. Custom server template
D. Component descriptors module

Answer: B 
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